CBSE HOTS Solutions X by Dev Anoop (Bathinda)

Fordd HeF 384y ard Muv%
HCF £8 /&/r\:é./c M%SS%&é,

Q= 384, b= X6
- 26) 384 (%
Wﬁ euchids duor demma 3¢ Y

 "ap)acl
A8L = QEX IR0 .- (D Q0
s JL F0O ERE
& ke
df = Spel+ e ¥ m
';Jr_:)=o 2
20 = 6%X3 T ... @ =
t s s
& = I3 +70

LI
d

- r

Mmﬁ@ Q= lbh +30 > a0=a-lkb. )
W?ﬁ@ c

=T
e %/ 28 and X6 = 2

o L e ;}Q:b—-(ad@é)

> L= I5b-0 o+ O

“‘Wy@ ok, Sy el

= (a-14) —(5b -a)3 ®
CBSE HOTS ( £w®

Solutions Xby Dev > & = 4@ —3595H
Anoop (Bathinda) = a3 _ Lol T@‘Db

WAL A= HE23 nay m. — 59



